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1 Introduction
This paper is related to the email discussion #08 and #09 which could not be concluded. This translates by the indicated FFS in the call flow figure 0.
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Figure 0: SCG Change – Current status
Actually the FFS result from the current undetermination whether both “two loops” or “one loop” solutions need to coexist. If this is solved most FFS can be solved. 
2 Necessity of the “two loop” solution
Last meeting, RAN2 has made two key agreements in this area that we need to bear in mind:

· RAN2 agreed that any bearer type change result in an SCG change. This therefore applies for split bearer -> MCG bearer and SCG bearer into MCG bearer. 
· RAN2 agreed that if SeNB wants to release the SCG part of a bearer, this will be indicated from SeNB to MeNB over X2AP and not within RRC.
Based on these two agreements, the bearer release requested by SeNB leads to two scenarios:

(1) MeNB decides to actually release the bearer and then only the indication received over X2AP is enough, there is no need to receive the SCG part of the configuration. Hence the SCG change can be avoided.

(2) MeNB decides to keep the bearer as MCG. This has to be done via an SCG change and therefore requires the inclusion of the SCG configuration.

Not having the two loop option means that the SeNB would have to always request an SCG change in the SeNB Modification Required message even for scenario (1) when MeNB decides to release the bearer.  
Unless RAN2/3 decides at RAN3#86 that bearer release (scenario (1)) will now also require SCG change which would be an overkill, the two loop option must be used to cope with both scenario (2) and (1) as follows:
Scenario (1): with bearer released
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Figure 1: Scenario (1) with bearer released

Scenario (2): with bearer moved to MCG
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Figure 2: Scenario (2) with bearer moved to MCG
Proposal 1: agree that the “two loop” option is necessary to be able to cope with both scenario (1) and scenario (2). 
3 do we need to add “one loop” solution on top?

It has been claimed that in some other scenarios the “one loop” solution could be used and would lead to higher performance. This is the case when the step 1 includes the RRC container and MeNB does not intervene i.e. can immediately trigger the RRC reconfiguration. Then steps 2 and 3 can be avoided by providing the new S-KeNB at step 6 as follows:
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Figure 3: the “one loop” solution with immediate RRC reconfiguration
However, in those scenarios the “two loop” solution can also be used where steps 2 and 3 are done in parallel of steps 4 and 5 with no loss of performance as follows:
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Figure 4: the “two loop” solution with immediate RRC reconfiguration
In this case the “two loop” solutions could even be said more performant because it provides the S-KeNB earlier to the SeNB i.e. at step 2 which means that in the cases where the UE performs successful RACH earlier than step6 the network is already ready to receive the data.
Proposal 2: agree that the “one loop option” even if technically correct doesn’t bring added value on top of the “two loop option” and therefore should be excluded to limit the number of options.
Proposal 3: as a consequence of proposal 2, agree that S-KeNB is not included in the SeNB Modification Confirm message and remove the corresponding FFS in step 6. 
Proposal 4: as a consequence of proposal 2, agree that RRC container can be included in steps 2/ 3.

4 Conclusion and Proposal 

This paper has analysed the necessary X2AP signalling for various scenarios of SCG change and made four conclusions:

Proposal 1: agree that the “two loops option” is necessary in certain scenarios.
Proposal 2: agree that the “one loop option” even if technically correct doesn’t bring added value on top of the “two loop option” and therefore should be excluded to limit the number of options.

Proposal 3: as a consequence of proposal 2, agree that S-KeNB is not included in the SeNB Modification Confirm message and remove the corresponding FFS. 

Proposal 4: as a consequence of proposal 2, agree that RRC container can be included in steps 2/ 3.
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